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4 AT X7 2 6.19 21.00 167.00 157.24 | 6 ying T6A-G 1 21 2

3 |A n'T XY 2 5.88 21.00 137.80 157.04 | 6 »'rl wl T6B-G 2 21 2

2 [A DT 2,353,522 > 2 3.77 15.15 61.47 10035 | 4 Al T4B-G 4 21 2

> 2,791,911 B 2 6.81 10.68 38.42 12383 | 5 1 T5A 5 21 2

7 2,785,774 |) 2 5.88 10.68 38.42 12383 | 5 1 T5B 6 21 2

3 1,692,913 > 1 8.84 8.09 26.95 7786 | 3 1 T3B 8 21 2

) TINNV1D 2,928,076 B 2 7.19 21.00 126.66 11959 | 45 2 T4.5A-P 9 21 2
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3 2,791,911 > 2 6.81 10.68 38.42 12383 | 5 1 T5B 6 24 7
3 1,736,974 > 2 8.85 8.09 26.95 77.86 | 3 1 T3A 7 24 7
3 1,685,412 B 1 6.67 8.09 26.95 7817 | 3 1 T3B 8 24 7
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4 1,548,323 1 3.77 3.39 | 11.31 77.50 3 T3A 7 26 11
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